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Empirical Rule, Chebyshev’s Theorem, Z-scores

I.
Suppose that in the United States the mean birthweight of full-term babies is 7.6 lbs with a standard deviation of 0.9 lbs. 


1.
If we assume that the distribution is bell-shaped,


a.
68% of these babies will weigh between __________ and __________ lbs.


b.
What percentage of these babies will weigh between 5.8 and 9.4 lbs?
__________

c.
What percentage of these babies will weigh less than 6.7 lbs?
__________

d.
What percentage of these babies will weigh between 5.8 and 8.5 lbs?
__________

e.
Compute the z-score for a baby that weighs 8.2 lbs.
__________

2.
If we cannot assume that the distribution is bell-shaped,


a.
What can be said about the percentage of these babies that weigh between 5.8 and 9.4?


b.
At least 8/9 of these babies will weigh between __________ and __________.


II.
In the United States the mean height of men is 69.4 inches with a standard deviation of 3.1 inches and for women the mean is 63.8 inches with a standard deviation of 2.8 inches. Steph Curry, a guard for the NBA Golden State Warriors is 75 inches tall and Epiphany Prince, a guard for the WNBA New York Liberty, is 
69 inches tall. Relative to the population of their gender who is taller. (Compute the z-score for each and compare them.)

III.
In Chicago the mean high temperature in January is 31(F with a standard deviation of 7.1(F and in July the mean high temperature is 84(F with a standard deviation of 5.5(F. What is more extreme, a 0(F day in January or 100(F day in July? (Compute the absolute value of the z-scores for these two days and compare.)

